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Ben is wrong.
3x2x2=12

6x3=18

Eli has more possible outfits.
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1) a) BR (big and rose), MR (medium and rose), SR (small and rose)
BD (big and daffodil), MD (medium and daffodil), s (small and daffodil)
BL (big and lily), ML (medium and lily), SL (small and lily)
BT (big and tulip), MT (medium and tulip), ST (small and tulip)

b) 3x4=12 There are 12 different combinations.
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a) 2x3x3=18
b) 2x3x2
I1x2xé6
Ix3x4
Accept any permutations of these calculations. For example, 2 x 3 x 2 could also be written as 2 x 2 X 3.
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